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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 3MTOPT T 6 FdaR 1983 B 53T YT 51 U AR YT, A1 1984 T TS SHIa TS & 9 &
qaT?

1. FHAR

[ )

. §YAR
-

4. YFPAR

Options :

686340168077. 1
686340168078. 2
686340168079. 3
686340168080. 4

Question Number : 21 Question Id : 68634042555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl & 39 ¢l & uRe: ukymor ©1 3rafe & gar Seafig 3afd are Iuie &l GIRTIG ]

1. {dld SuTE
W 3udg
Y- QP IUUE
4. YT (INSAT)

Options :

686340168081. 1
686340168082. 2
686340168083. 3
686340168084. 4

[ ]

Lad

Question Number : 21 Question Id : 68634042555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt % o0 4 & IR ARy B 3afd F g waffy e are SuE @6 Fel gl
1. Ydi 3udg

2. fcies IuTE

3. Y- s I

4. 3UC (INSAT)
Options :

686340168081. 1
686340168082. 2
686340168083. 3
686340168084. 4

Question Number : 22 Question Id : 68634042556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 1 g 11 ¥ [aH Sifey
LIST I LISTII
TEgHIaT ST T
A, [Ec@! 1 ERids
B. [Esa®! 11 [@iREl
C. [4reia TegHEiTgE St 111 [PRIGE
D. Hie! v fq@e
ool faedd d U U8t 3w &1 90 S -

1. A-III, B-1. C-IV. D-II
2. A-IL B-IV, C-L. D-I1I
3. A-TIL B-IV. C-I. D-1I
4. A-II. B-1. C-IV. D-III

Options :

686340168085. 1
686340168086. 2
686340168087. 3
686340168088. 4

Question Number : 22 Question Id : 68634042556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

LIST I LISTII
TR a" $U=T T

A [ETc® I BRSPS

B. B! 11 [®Ral

C. [HRdE Tegdi=gE St 111 [@RIYE

D. e V. Rq@e

FEfeRad fasedi 4 98 IR &1 99 DI -

1. A-IIIL, B-1. C-IV. D-II

| )

CA-TL B-IV. C-1, D-II1
3. AL BIV,. C-1. D-II
4. A-II. B-1. C-IV. D111

Options :

686340168085. 1
686340168086. 2
686340168087. 3
686340168088. 4

Question Number : 23 Question Id : 68634042557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DR (31218) IS D U Yo Dl die U A+ 3R 370 GIR T DI icH o o (oY g Tdbdl gl
g5 YAl " ¥4 8§ 51 oIl 5

1. RIPER
.8 gfega

US-d18
4. g IR gHYT

Options :

686340168089. 1
686340168090. 2
686340168091. 3
686340168092. 4

| )

%]

Question Number : 23 Question Id : 68634042557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PR (3e08) TG & UF U & dia U AP 3R 30 8L Taw Bl 9 o & [T g adl
gg e &9 30 8 S 9l 2

1. RIPER
.98 aRkadq
B8

4. ged U JHYU]

[

L¥%]

Options :

686340168089. 1
686340168090. 2
686340168091. 3
686340168092. 4

Question Number : 24 Question Id : 68634042558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 =t 11 ¥ e S

I 11
A o TS L [irore g TR
B. RH$WI {3 I1. [T4. TH Sl
C. [gde ofiw g0 gasel 111 [earHe g3 d]
D. [gr=re gfa™ T 1v. [l [qadrs
foferiad faeedl o T 9gl 3ok &l 999 Hifolt :

1. A-IIL, B-IV, C-I1. D-1

[ ]

AL B-IV. C-1, D-1
3.A-IV. B-IIL C-1, D-II
4. A-II, B-IV, C-1, D-111

Options :

686340168093. 1
686340168094. 2
686340168095. 3
686340168096. 4

Question Number : 24 Question Id : 68634042558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 161 1 11 9 [0aH S

I 1
UTﬁ£§§:HqﬂFT q;ggzqiﬁ
A | gare L [fTiaTel gwn Ta
B. RGP 4 11 [g_ge S
C [gde A% 350 Gigrsel 111 [caric 93!
D. [grere gidg & Iv. [ [qa@rs
fFafaiRad f[deedi § U Ug] 3R &1 99 Difold -

1. A-TI1, B-IV, C-11, D-1

| ]

AL B-IV, C-1 D-T1
3. A-IV.B-II C-1. D-II
4. A-IL B-IV, C-L. D-I1I

Options :

686340168093. 1
686340168094. 2
686340168095. 3
686340168096. 4

Question Number : 25 Question Id : 68634042559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YehY a1 Sl BT bx foh e ¥U H &I Sl §
1. Yhq o
2. 7 (PI)

& 5
4. Hftp=

Options :

686340168097. 1
686340168098. 2
686340168099. 3
686340168100. 4

Question Number : 25 Question Id : 68634042559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@Y T ST &1 s [ o9 H o1 oIl ©

1. HebY i
2. 7 (PIF)
. .
4. A=

Options :

686340168097. 1

686340168098. 2

686340168099. 3
686340168100. 4

Part B: Mathematics

Section Id : 686340838
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401396
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634042560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let f:Z — Z, be a homomorphism of groups defined by

0, if aiseven

I, if aisodd

fla)=

then Kerf is :

1. The set of all odd integers

o

2. The set of all even integers
3. The set of all natural numbers

. The set of all real numbers

e



Options :

686340168101. 1
686340168102. 2
686340168103. 3
686340168104. 4

Question Number : 26 Question Id : 68634042560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0, ofza sat
].. Tfe .‘_’I'i%'m%

T /2 - 2, 94g ST EADmae sl f(a)= GRI IR &,

9 Kerf 3
1. Tt foww guriesl &1 S=g
2. g 1 Ui &1 9=
3. gl uride dwns &1 9=y

4. 91 arafde el o J=

Options :

686340168101. 1
686340168102. 2
686340168103. 3
686340168104. 4

Question Number : 27 Question Id : 68634042561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of 16 in (_/‘Z}I , tay4 ) 1s:

1.2

| )
L]

4.6

Options :

686340168105. 1
686340168106. 2
686340168107. 3
686340168108. 4

Question Number : 27 Question Id : 68634042561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

(Zyy, 454 ) F 16 T DR R,

1.2

[ )
L]

3.4
4.6

Options :

686340168105. 1
686340168106. 2
686340168107. 3
686340168108. 4

Question Number : 28 Question Id : 68634042562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is correct :-

1. Z is an ideal of Q

| B

.Zi1sanideal of R

L S]

. Q1s an ideal of R
4. nZ is an ideal of Z, where n 1s an integer

Options :

686340168109. 1
686340168110. 2
686340168111. 3
686340168112. 4

Question Number : 28 Question Id : 68634042562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G Is 9 te el 6 -
1. Z. Q &1 U% UG &
2.Z. R 1 U@ TUSaa 8
3. Q. R 1 U TUISacil §
4. nZ. 7 1 U UISIGA! 6. 516! n U6 0% ©

Options :



686340168109. 1
686340168110. 2
686340168111. 3
686340168112. 4

Question Number : 29 Question Id : 68634042563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The order of the given penuutationfl - 1 tEE T ?ﬁis:
2 46173895
1.4
2.8
312
4.6

Options :

686340168113. 1
686340168114. 2
686340168115. 3
686340168116. 4

Question Number : 29 Question Id : 68634042563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgmwmm () 20 00 0T swRE-

2 4 61 7 3 8

r

1.4

b
[ea}

4.6

Options :

686340168113. 1
686340168114. 2
686340168115. 3
686340168116. 4

Question Number : 30 Question Id : 68634042564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of he following is incorrect ?

1. Z is a subring of the ring (Q, +, -) of rational numbers

| o]

. Q is a subring of the ring ( R, +, ) of real numbers
3. C is a subring of the ring ( R, +, -) of real numbers
4. Set E of even integers is a subring of the ring ( Z, +, ) of integers
Options :
686340168117. 1
686340168118. 2

686340168119. 3
686340168120. 4

Question Number : 30 Question Id : 68634042564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrfaEa § S P T © -
1. 7 URHAG HEA13{l & gerd (Q, +, -) DT 3Uaed §

[

.Q adfa® @At & GO (R, +, -) BT 3UG0T §
3. C Afde GBS & GO (R, +, ) P SUa@d ©

4. ¥ YUTich 1 W= E GUitehl & aeid (Z, +, -) DT SUaed &

Options :

686340168117. 1
686340168118. 2
686340168119. 3
686340168120. 4

Question Number : 31 Question Id : 68634042565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I : Every cyelic group is abelian

Statement IT : (Z.+) 1s a cyclic group with 1 and -1 as the only generators

In the light of the above statements , choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but statement II 1s incorrect

4. Statement [ is incorrect but statement Il is correct

Options :

686340168121. 1
686340168122. 2
686340168123. 3
686340168124. 4

Question Number : 31 Question Id : 68634042565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR CUR)

DY TS 9% g I9E Ml g

DY : (Z.+) U D1 TG § o o hadl 1 qul-173 |

SURIG Sy o 3l § , -1 f3U T fasdedi § 9 9ad Iuged STk &1 909 DIl -
L BY1 IR 1 I T €
2. BYA [ IR 11 ST T &
3. DY HEI § . b= PYF 11 7T9d §
4. PYTITE & , Al DY 11 FE1 B

Options :

686340168121. 1
686340168122. 2
686340168123. 3
686340168124. 4



Question Number : 32 Question Id : 68634042566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I : Let G a finite group and H a subgroup of G. Then . the order of H 1s a divisor of the order of G.
That 1s . [H| divides |G

Statement IT : Let a be an element in a fimite group G . Then . O(a) divides |G

In the light of the above statements , choose the most appropriate answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but statement IT is false

4. Statement I is false but statement II is true

Options :

686340168125. 1
686340168126. 2
686340168127. 3
686340168128. 4

Question Number : 32 Question Id : 68634042566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e eyrfeum g

HYF 1 G G U URIT T8 8 YT H. G $ IU9HE 8. 09 . H B DIIc G DI DIC DI UGD § |
ufan). (o 1 fauifea srar s

G 11 : T 2 IR 995 6 T U 294 § . 99 0(a). |G| B! fquifora drar g |
SWRIad Py P el H |, i feu MU famedl ¥ 9l SR 91 997 @i :
1. BYA 1 SR 11 ST I &
2. BYA 1 IR 11 ST ST &
3. PYTIHT . AP PYA T A ©

A FYT OIS . AP PHEIITI S

Options :



686340168125. 1
686340168126. 2
686340168127. 3
686340168128. 4

Question Number : 33 Question Id : 68634042567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fich Fo B -5 R b B Tibucar mapping defined by
F(x,3,2,1) =(x—y+z+1,2v—2p+32+ 4, 3x— 3y + 42+ 5r), then nullity (F) equals

 JHLE

b
—

4.3

Options :

686340168129. 1
686340168130. 2
686340168131. 3
686340168132. 4

Question Number : 33 Question Id : 68634042567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oM F R - R e e wfafmu & off 91 ver uRvita & -

F(x,3,2,1) = (x—y+z+1,2x-2p+3z+41,3x-3y+4z+5). A8 AT (F) € % -
1.6
2.1
3.2
4.3
Options :

686340168129. 1
686340168130. 2
686340168131. 3
686340168132. 4

Question Number : 34 Question Id : 68634042568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3 | -2 -3

: 1 4 3 1 4

The rank of matrix A = _ ! I

3 ¥ 4f i =g

3 B | -7 -8
1.4
2.3
2
4.1

Options :

686340168133. 1
686340168134. 2
686340168135. 3
686340168136. 4

Question Number : 34 Question Id : 68634042568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R

3 1 -4 \_’_‘.I.ﬁj'. =
R, @ T-
1 =7 <8

g A -

L7 S N R
OO L = L

| B}
[#FN]

4.1

Options :

686340168133. 1
686340168134. 2
686340168135. 3
686340168136. 4

Question Number : 35 Question Id : 68634042569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=

3 : : : :
J. then the matrix B that represents the linear operator A relative to the basis

s ={w,u2}={[13] [2.5] }.is

]

Let h:[

B

i 53 89
132 54
., [-53 -89]
T 132 54
g |53 55
198 23
[53 -23]
4
189 45 |
Options :

686340168137. 1
686340168138. 2
686340168139. 3
686340168140. 4

Question Number : 35 Question Id : 68634042569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mm{j fl}aaanw5:{ul.uz]:{[1,3]T,[z,5]r}aaqﬁa%@awwaﬁaqﬁwﬁ
HTE BT -

1 [53 89]
132 54
5 [—53 -89
132 54
. 53 55]
198 23
(53 23]
4,
189 45

Options :

686340168137. 1
686340168138. 2
686340168139. 3
686340168140. 4



Question Number : 36 Question Id : 68634042570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consider the following linear equations :-
Ix+Ty+z=0
5x+% —z=0
Ox+ 13y +hkz=0

For what values of & the above system of equations has an infinite number of solutions -

| )

[ ]
I
LN

4.6

Options :

686340168141. 1
686340168142. 2
686340168143. 3
686340168144. 4

Question Number : 36 Question Id : 68634042570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafefag e gdiew e o fdar Sifen

Ix+Ty+z=0
S5x+0y—z=0
Ox + 13y +kz=0

k& g A & 70 gHie0l & g9 e & sF<gd s -

1.2

4.6

Options :

686340168141. 1
686340168142. 2
686340168143. 3
686340168144. 4



Question Number : 37 Question Id : 68634042571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

9

2
Statement [ : If A = [] J , then sum of eigenvalues of A1s 3 .

1

Statement II : If % is an eigenvalue of T, where T is invertible linear operator, then 27! is an eigenvalue of T"!

In the light of the above statements ., choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but statement I1 is false

4. Statement I is false but statement II is true
Options :
686340168145. 1
686340168146. 2

686340168147. 3
686340168148. 4

Question Number : 37 Question Id : 68634042571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A A CU R
mm:uﬁm—ﬁ ﬂ.aaaa‘?a-rfﬂﬁ&ffﬁwwﬁ‘faﬂmm%i

T 11 : IS T 1 @O 31 5. 8. e T epAuia W& vae® &, 99 T 31 sifiaefiis am
7R

IRIGd Y & ATellF § . A (G 0 f[deedi § U gl IR &1 999 DI -
1. PYTI SR I SF 9 &
HYA 1 AR 11 AT 3T §

FYTITI e . AfFT ey e mA

[ ]

Lid

FYTI AT E . AfPT R I I e

FEs



Options :

686340168145. 1
686340168146. 2
686340168147. 3
686340168148. 4

Question Number : 38 Question Id : 68634042572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Suppose U and W are finite - dimensional subspace of a vector space V. then dim (U+W) =dim U + dim W -
dim (UN17) |

B.letV =R W =|(a.h,c:a>0)}. then W is a subspace of V

C.Ifu=(1,2),v=(3,-5). then u and v are linearly independent

D.(1.1.1) and (1.0.1) form a basis of R®

choose the most appropriate answer from the options given below

1. A. C Only
2. A.D Only
3.B. C Only
4. B. D Only

Options :

686340168149. 1
686340168150. 2
686340168151. 3
686340168152. 4

Question Number : 38 Question Id : 68634042572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A TF @ U SR W R gafy v o wifd faria STy €. @@ dim (U+) = dim U+ dim 7 — dim
(UNw)

B. HFIV = R*.W ={(a,b,c:a>0)}. d VI SUAHY W B

c.afgu=(12),v=(3,-5) qq , qur v ST WA 3

D. (1.1.1) 4T (1.0,1). R* BT S{IYR &1 §

1= fdu T fasedl © O el Iugad G BT 90 Bl -
1. A, C Had

.A. DHad

3.B.C $had

4.B.D®dd

| )

Options :

686340168149. 1
686340168150. 2
686340168151. 3
686340168152. 4

Question Number : 39 Question Id : 68634042573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

A A squar-:lm_aﬁtrle 15 said to be 1 la=a

symmetric if
B A square malnl_‘;_ﬂ.t 15 said to be T |resan

skew symmetric if
C. [If A 1s any square matrix then 11T A ﬁj‘ is a symmetric

matrix

D. [I[f A is any square matrix then IV A-Allsa

skew symumetric matrix

Choose the correct answer from the options given below:

I1.LALBILCII DIV

ZALBHLCILDIV

JLAIVBIILCILDI

4 AILBIN,CIL. DIV

Options :



686340168153. 1
686340168154. 2
686340168155. 3
686340168156. 4

Question Number : 39 Question Id : 68634042573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 T 3 11 & 1Y e Sifeg

LISTI LISTII
A [l erogg A TG dedrdl § gie I Ja=A'
B. [ 1o A faue - guifd dgandi g afe| I [a=-A
C. [afe A @l 9 g & a0 L fA+A' GHED AR §
D. [afg ADI3 3 3Megg & 7 IV. |a-A" f[qvH-FHIHd 2M90E B
freferad famedl & ¥ 98l STk &l 99+ DIl :

LALBILCIIL DIV

)

SALBULCIL DIV

JAIVBILCILDI

4 AILBIL.CI. DIV

Options :

686340168153. 1
686340168154. 2
686340168155. 3
686340168156. 4

Question Number : 40 Question Id : 68634042574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If f(xry)=x" +»" +6x+12 then minimum value of f is:

1.39

| )
LS ]

4.8

Options :
686340168157. 1
686340168158. 2



686340168159. 3
686340168160. 4

Question Number : 40 Question Id : 68634042574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qAME fny)=r 4y’ +6:412, T L DT YIAH AF © -

1.39

| ]
Lad

3.12
4.8

Options :

686340168157. 1
686340168158. 2
686340168159. 3
686340168160. 4

Question Number : 41 Question Id : 68634042575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
x' =y
[ — = when x 20, v 210

The function 7(x y)=1 %+ 1s continuous at (0.0) . then k is equal to :
1 ko whenx=0p=0
1.2
23
3.1
4.0

Options :

686340168161. 1
686340168162. 2
686340168163. 3
686340168164. 4

Question Number : 41 Question Id : 68634042575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BT fler)=lP = 200 RITTE. T LR S :

k., w® x=0,p=0

[ ]
Lad

4.0

Options :

686340168161. 1
686340168162. 2
686340168163. 3
686340168164. 4

Question Number : 42 Question Id : 68634042576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Homogeneous function Degree
T T
: x4 4yl
A F(nry) =T L |3
x2 4 p2
. X+ ¥
B. |[/y)= =7 I
NX+ \‘1_1' 2
4 4
. X +Vy
c |f (xy)=—— . 1
X+y
» Illrj +}=': ]_
D. | f(xy)=Y—= v [-=
i |: : } \f"; + \l'l_l' 6

Choose the correct answer from the options given below:

1L AILBIV.CL DIII

2ZAIVBILCLDII

JAINMLBILCILDIV

4 ALBIILCIV.DII

Options :

686340168165. 1
686340168166. 2
686340168167. 3



686340168168. 4

Question Number : 42 Question Id : 68634042576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4t 1 1 gl 11 U [ sifog
H’H‘E!'!T:I'th?l:r : urd
AlfEn=522 |3
x2 +y2
B. ”rﬂ_\.%_:ﬁ L %
c f (J«L)zﬂ |1
x+_v
-’I. Bl ] ]
D. .i'(-r..s-}:i,i—j; V-2
fafaRad fdweal § O 98 SR @1 993 Sifong -

LAILBIV.CLDIII

[ ]

CAIVBILCILDIII

JAINLBILCILDIV

4 ALBILCIV,DII

Options :

686340168165. 1
686340168166. 2
686340168167. 3
686340168168. 4

Question Number : 43 Question Id : 68634042577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



] o x+w 2 2 —sinu cos 2u :
fu=sin"' | —=—— |and x7u,, +2xpu,, +y-u, =————then, mis equal to:
JE—J; : i m- cos” u
1.2
2.4
3.-2
4.1
Options :

686340168169. 1
686340168170. 2
686340168171. 3
686340168172. 4

Question Number : 43 Question Id : 68634042577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; x+y 3 3 —sinucos 2u
qiS u =sin~! [-——-——}——} YT x*u,, +2xpu,, + y U, =———— 8 m GG &

\J";—«.f'_l«' m” cos” u

L.

| )

[ ]
£

4.1

Options :

686340168169. 1
686340168170. 2
686340168171. 3
686340168172. 4

Question Number : 44 Question Id : 68634042578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o~
- |
The infinite series { 1+ _] 18

1. Convergent

2. Divergent

3. Oscillating finitely
4. Oscillating infinitely

Options :

686340168173. 1
686340168174. 2
686340168175. 3
686340168176. 4

Question Number : 44 Question Id : 68634042578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i
-

maﬂﬂi 1+4] %

e n
1. AR

2. TR

3. Hifed gerl

4. S St

Options :

686340168173. 1
686340168174. 2
686340168175. 3
686340168176. 4

Question Number : 45 Question Id : 68634042579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



n) 3“
The infinite series E 18
P |
nt+.L
n=1 4

1. Divergent to o

I
. Converges to —
16

-3

;
3
3. Conrverges to —

16

4. Converges to —

Options :

686340168177. 1
686340168178. 2
686340168179. 3
686340168180. 4

Question Number : 45 Question Id : 68634042579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3“

H"
n= ]4
1. % O3 ORI

&

m»ﬁtrﬁ

.%ﬂ?&ﬁ-@ﬂﬂ

3.%@3{@?{&?{
]

4.%@3@@‘3{?{

-J

Options :

686340168177. 1
686340168178. 2
686340168179. 3
686340168180. 4

Question Number : 46 Question Id : 68634042580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If f and g are two continuous function on their common domain D. then

A. f+ g1s continuous on D
B. f — g is continuous on D
/. :
C. —1s confinuous on D — {_x : g(x) = 0!
o J
D. of’is continuous on D. where a is any real number

E. ]rl is continuous on [ — {_x f(,l} s D}

choose the correct answer from the options given below

1. AB.D.E

-J

B, C.DLE
J3JAOB.CE
4 ABCD
Options :
686340168181. 1
686340168182. 2

686340168183. 3
686340168184. 4

Question Number : 46 Question Id : 68634042580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qf¢ £ qYUT g AT SHAFE U D T &1 Udd B g . a9
Afrg DWRIAAE

B.f— g DRIAIT
C: i,D —{I:g[.‘r}:[}}q_\;W%
D. of, D R UAd ¢ 9ol o Bl TGP TS §
E. % D—{x: f(x)=0} Rudg
i fU T fddedl O ¥ Tel STk &1 99 Bifoiy

1.A.B.D.E

3=

.B.C,D.E
3.A.B . CE
4 AB.CD

Options :
686340168181. 1



686340168182. 2
686340168183. 3
686340168184. 4

Question Number : 47 Question Id : 68634042581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. flx) be a real function defined on an interval [a.b]. flx) have to be maximum value in[a.b], if there exists
a points c in [a.b] such that f(x) = f(c) for all x € [a,b]

B. Let flx) be a real function defined on an interval [a,b]. flx) is said to have the minimum value in interval
[a.b], if there exists a point ¢ € [a.b] such that f(x)< f(¢) for all x € [a.b]

o) . A
C.flx)=—x— 1) +2. x € R, max value = 2. min value does not exist
D. jx)=-lx+ 1 +3, x € R, Max. values = 3, min value =2

choose the correct answer from the options given below:

1.ABC

| B

i T
3.JALC
4 A B.C.D

Options :

686340168185. 1
686340168186. 2
686340168187. 3
686340168188. 4

Question Number : 47 Question Id : 68634042581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. T fix) SH=IRTE [a,5] IR GRHTIST GR1d® B 6l . £ (x) [o.5] H S=0aH AF ¥@d1 ¢ 9 [a,b] H
[85 c SH PR [T & & 7 (021 (). x T . x € [2,5] B foTT

B. A flx) 31 [,b] TR GRYUINT I[P B0 6 | fx). [o.b] § FHaH AR @A g Al Mg c e
[2.b] B SH TR faeam i &, £ (x) < / (¢). I x € [0 b] F W

C. fx)=—(x—-12 +2.xeR. IATH AR =2 . Fgan AF AT A 781 ©

D. f(x)=—k+ 1+ 3,x € R 3dH A = 3 , AT A= 2

13 fg 1 e 1 § 9e) SR @1 9 B

1.AB,C

2:B,€,D
JJAC
4. A B.C.D

Options :

686340168185. 1
686340168186. 2
686340168187. 3
686340168188. 4

Question Number : 48 Question Id : 68634042582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
=
li &
A. [Series Z 5 18 ; [Meonotone and
n=l = convergent both
b
n-
x H
B. |Series E —gis I |2
=] n-
o w2i+l
e i
C. |lim el IIT. [Divergent to o
m—a0 H+ 2
D. |seqence x, =1+ ,\L‘ "'Tll -—.....+$ for ne N| TV, [Convergent

Choose the correct answer from the options given below:

LAIVBILCILDI

[ )

CATNLBIV.CILDII
JALBILCIIN DIV
4 AIV.BLCIILDII

Options :

686340168189. 1
686340168190. 2
686340168191. 3
686340168192. 4

Question Number : 48 Question Id : 68634042582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 19 1Y Gt 11 BT fHei Shifore

il il
% : l
% MZ—] I [usfey qur sifeard gl
n=l1
”3
) 0 3.??
B ﬁuﬂz:—j% I [
n=1 M-
/ 24l
c | tim| n+l] 2 1L [3OYRT o TR
n—o B+ 2
D. [P H x, =14 1].1 :. S J:| forne N | IV, [HEERT
- fau e fowedt # 9 96l SR &1 99+ Bifon

LAIV,BILCIL DI

|

CANLBIV.CL,DII
JALBILCIIL DIV
4 AIVBLCILDII

Options :

686340168189. 1
686340168190. 2
686340168191. 3
686340168192. 4

Question Number : 49 Question Id : 68634042583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The set of all points. where the function f/(x) = [l+r| |} 1s differentiable . is
X
1.(0,)
2. (—o0,%0)

Options :

686340168193. 1
686340168194. 2
686340168195. 3
686340168196. 4



Question Number : 49 Question Id : 68634042583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it farg il &1 W=, oigi e /(1) 1+| ) AP B. © -

Options :

686340168193. 1
686340168194. 2
686340168195. 3
686340168196. 4

Question Number : 50 Question Id : 68634042584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I | |
The value oflim—l 1+22 43

H—FiE i']

| )
1
—_

4.

B}

Options :

686340168197. 1
686340168198. 2
686340168199. 3
686340168200. 4

Question Number : 50 Question Id : 68634042584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| | |
| 1437 8T 4 HIOFE -

H—FC i?

| ]
1
—_

4.2

Options :

686340168197. 1
686340168198. 2
686340168199. 3
686340168200. 4

Question Number : 51 Question Id : 68634042585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: T s ; I mw.
The value of C in Rolle's theorem where — % o 2 and f(x)=cosx on [— —,— | 1s equal to:
2 2

o)
=

Options :

686340168201. 1
686340168202. 2
686340168203. 3
686340168204. 4

Question Number : 51 Question Id : 68634042585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



: |

ﬁﬁ%uﬂuﬁ'c*aﬂﬂﬂwm_aﬁ—?:cc:%azn,;-(x);m.;—. [—% %}‘T{%:

1.0

!._J
=

i
37
bra
i

Options :

686340168201. 1
686340168202. 2
686340168203. 3
686340168204. 4

Question Number : 52 Question Id : 68634042586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I : Draw back in Lagrange's method of undetermined multipliers is that nature of stationary point
cannot be determined

0
a-1 1 .
Statement II : z (— ]) 18 convergent
n=I nyn

In the light of the above statements ., choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but statement II is false

4. Statement I 15 false but statement II is true

Options :

686340168205. 1
686340168206. 2
686340168207. 3
686340168208. 4

Question Number : 52 Question Id : 68634042586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

S IERALAICACU R
FYA1: ARG o1 B TS Aty & g8 il § o W fag @1 ugpld FuiRka 781 &1 o 9 8

e Y (-1 - st 2

n«n

SURIG HY D 3HelD T, Al 16U T faedi § 4 Y4 IUgad SR 1 99 Biforg

1. BYA1 IR 11 S el &
FYF AR I SAI TAd &
PYTI el e, AfpTPYT nTad

[ )

L¥%]

4. BYT IO & . AfpT HYUT 11 Tl &

Options :

686340168205. 1
686340168206. 2
686340168207. 3
686340168208. 4

Question Number : 53 Question Id : 68634042587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dz

e
o R4

The value of the integral C'F)
o

| B

e|a

b
s |
i |

Options :

686340168209. 1
686340168210. 2
686340168211. 3
686340168212. 4



Question Number : 53 Question Id : 68634042587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dz

- . |
.}_-

Wgﬁ C:lz|=1armmz
s

[ )

i
9

i
b |
i )

Options :

686340168209. 1
686340168210. 2
686340168211. 3
686340168212. 4

Question Number : 54 Question Id : 68634042588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of J 327 +7z+1 dz. where C is the circle || =—£ is
¢  z+l

| B
i

4. 2mi

Options :

686340168213. 1
686340168214. 2
686340168215. 3
686340168216. 4

Question Number : 54 Question Id : 68634042588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



J‘IM(;:WW%.GIBTCQHPF—;%.

z+1

| ]
i

4. 2m

Options :

686340168213. 1
686340168214. 2
686340168215. 3
686340168216. 4

Question Number : 55 Question Id : 68634042589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I-+i :
Ifj ] (Iz - ;'y] dz = a + i3 along the path y = X, then value of @ — fF is:
U LS

1.0

[ ]
[y

4.3

Options :

686340168217. 1
686340168218. 2
686340168219. 3
686340168220. 4

Question Number : 55 Question Id : 68634042589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ry y = r%mumuj{l”(ﬁ _,{y]dzzfﬂfﬁ%,ﬂﬁa—ﬂaﬂm%:

[ ]
[P



Options :

686340168217. 1
686340168218. 2
686340168219. 3
686340168220. 4

Question Number : 56 Question Id : 68634042590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 4 = x* — 32 is real part of an analytic function f(z), then f(z) is:

1.2

2

2.Z

]

okl
|

4.3+i

Options :

686340168221. 1
686340168222. 2
686340168223. 3
686340168224. 4

Question Number : 56 Question Id : 68634042590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe u =x* - ¥’ IS BeH f(z) BT IRA[ES HIT § . 79 fz) RS &

1. Z

Options :

686340168221. 1
686340168222. 2
686340168223. 3
686340168224. 4

Question Number : 57 Question Id : 68634042591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following i1s harmonic function
l.any):x:—yE—E{y—2x+3y
o 3. .3
2. f(x,y)=x"+y
3. f(x,»)= X +;1:'1 - Xy
4. f(11} gy, ."2 +2xy

Options :

686340168225. 1
686340168226. 2
686340168227. 3
686340168228. 4

Question Number : 57 Question Id : 68634042591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e ¥ 4 ®H- 1T gHae Be e : -
L f(xy)= X =yt —2xy—2x+3y
(xy)= x +}"1 - Xy

2/ (x3)=5"+5"
5.1

4. f(x,y)= 4 _1-‘2 +2xy

Options :

686340168225. 1
686340168226. 2
686340168227. 3
686340168228. 4

Question Number : 58 Question Id : 68634042592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

5
, z°+6z+2 : .
Assertion A : The integral J.i dz = (), where C is the circle |ZE =3
- —
s

Reason R : If there is no pole inside and on the contour C, then the value of the integral of the function along
C 1s zero

In the light of the above statements . choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 138 NOT the correct explanation of A
3. Aistrue but R is false

4. A is false but R is true

Options :

686340168229. 1
686340168230. 2
686340168231. 3
686340168232. 4

Question Number : 58 Question Id : 68634042592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 Sl PUA RU MU § : U U (ASSERTION A) & &4 I faif&d § d g8R1 39S PRUI (REASON
R)H=gH

2 46242

Sffireme A FTE [ dz =0, 581 C qul |2 =38
)

PRUR : Afe 9@ & Hiaw U i@ R @15 Wi 39 T8l 6, 96 Bad @1 ¢ & 91y 91U a5 d BT
HHE Y BT

=i fU T f[dPedl O ¥ Hel SR &1 99 Hifeiy
1.ASRREM I E SRR . A DI Ul URA ©

A SR R M 9 8, A R A ST 981 o0 T8l §

AYTE. AfPTR 3HA T

4. AT L. AfPTR IS

[

L%

Options :
686340168229. 1



686340168230. 2
686340168231. 3
686340168232. 4

Question Number : 59 Question Id : 68634042593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A f ( Z ) = & I [Not analvtic anv where
\ 1
B. f (Z) =— II. |Analytic at Z=0 enly
Z
C. f (Z ) = E ITT. [Analytic everyvwhere
D. f(Z) fe g IV. [Not analytic at Z=0

Choose the correct answer from the options given below:

1.LALBILCII DIV

2ZAILBLCIV.DIII

JAINLBIV.CILDII

4 AIVBIULCIL,DI

Options :

686340168233. 1
686340168234. 2
686340168235. 3
686340168236. 4

Question Number : 59 Question Id : 68634042593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



15 Y g 11 T e Hifene

g1 i g
A f(z):z" L el ol faxafie Teig
B f(z):l 1L [ -0 R e 3

A
c|f(z)=2 |m wivmeiefe 2
z IV. | z=0 R fawcifie 781 &

-3 fau T fowedl O 9 el SR &1 994 Sifog

1LALBILCII DIV
2ZZAILBLCIV.DIII
3JANLBIV.CLDII

4. AIVBIILCIL DI

Options :

686340168233. 1
686340168234. 2
686340168235. 3
686340168236. 4

Question Number : 60 Question Id : 68634042594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. f(z) 1s analytic then U, =V,. U, =-F,
B. Polar C-R equation 1s U, :% V9. Ug =—1F,

C. Two curves are said to be orthogonal to each other. when they intersect at acute angle at each of their points
of intersection

dz . ' |
D'!z—] = 2771 where ( :|:_”:E

choose the correct answer from the options given below:

1. A. B. C Only

| ]

.B, C.D Only

%]

.A B .D Only
4. A .C.DOunly

Options :

686340168237. 1
686340168238. 2
686340168239. 3
686340168240. 4

Question Number : 60 Question Id : 68634042594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A fiz) TRl @ g d@ v, =v,.0, =¥,
|
B.4RAM C-R FHIGRU U, =, Uy =1V, §

r

C. 31 350 U G & UEDIVI Beand & od S © Ta® Hasel [§gail TR FAHI0 R Wiaee $3d 8

(.z—]_

1z F:
D.j : =27i. S8l C z—1|:%

e fau U fasedl T § TEl 3Tk &1 994 Biog
1.®dd A, B.C

.$ddB.C,D

3. %ddAB.D

4. ®BITA.LC.D

[

Options :



686340168237. 1
686340168238. 2
686340168239. 3
686340168240. 4

Question Number : 61 Question Id : 68634042595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let 73 — 7 where Z 1s a complex number on the unit circle then Z is a solution of

12t
2.27=1
3zt =1
4.7%=1

Options :

686340168241. 1

686340168242. 2

686340168243. 3
686340168244. 4

Question Number : 61 Question Id : 68634042595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oz =Z i z3oR g R Ay Geng. aez oo $Igde:-
Z=]
28 =1
i
k7=
Options :

686340168241. 1
686340168242. 2
686340168243. 3
686340168244. 4

Question Number : 62 Question Id : 68634042596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If f(x+iv)=x"=3x7 +i¥(x.») where ;= y21 and f(x+iy) is an analytic function. then P (_x', y) 18 ¢

1.y’ -3x?y

2.3x%y - y?

3. x* - 4.1'3}-'

4. xy—y°
Options :

686340168245. 1
686340168246. 2
686340168247. 3
686340168248. 4

Question Number : 62 Question Id : 68634042596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U £ (x+iy)=x" =307 +i¥ (x,y) 8T =y TUT £ (x+iv) Up faRQlfties Ba-1 8. dd ¥ (x, ) &

Ly =3x%y
2.3x%y -y’
3.x* —4x%y
4. xy - ,1'2

Options :

686340168245. 1
686340168246. 2
686340168247. 3
686340168248. 4

Question Number : 63 Question Id : 68634042597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I : If f(z) = u + 1v 1s an analytic function. then u and v are both harmonic function .
Statement IT : If /(z) is analytic within and on a closed curve C. and if a is any point within C. then

Fla)= : 'I{%i:}d:

2miv. z

In the light of the above statements , choose the most appropriate answer from the options given below

1. Both Statement I and Statement II are correct

| ]

. Both Statement I and Statement II are incorrect
3. Statement I is correct but statement II 1s incorrect

4, Statement [ is incorrect but statement Il is correct

Options :

686340168249. 1
686340168250. 2
686340168251. 3
686340168252. 4

Question Number : 63 Question Id : 68634042597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁﬁﬁwﬁqﬂt{%‘“
FUT L TG A2) = w+ iv U A0S B0 &, 99 w TUT v ST UHare! B g
B 11 : UTE A7) Yod aob C P e GYT Yeld aep R (AN § qUl a. C B H<ER Bl [6g &, a9

fla)= ﬁf% dz

SWRIgd BU & 3HTelie §, - U U fae el § 9 969 S9ged SR &1 99- Hifely
1. BYA 1 IR 11 T T &
2. BY 1 3R 11 ZHT e §
3. BYA 1 981 § . Wb HUF 11 7T ©

4. BYTI17Ad & . Afs HYT 11 Tl 8

Options :
686340168249. 1
686340168250. 2



686340168251. 3
686340168252. 4

Question Number : 64 Question Id : 68634042598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

|
The integral J
0

=t— =

(xz + 37 ] dy dx 1s:

[
|-

b | —

W=

4.1

Options :

686340168253. 1
686340168254. 2
686340168255. 3
686340168256. 4

Question Number : 64 Question Id : 68634042598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR CA 'f(x%_r?].:{rdr%':
I

ey, —

I
| —

b | —

d | =

4.1

Options :

686340168253. 1
686340168254. 2
686340168255. 3
686340168256. 4



Question Number : 65 Question Id : 68634042599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. 2 e 2roa? xavex
Double integal In fﬂ T35
fx Y

-\..f T ¥

equals:

!._.'l
Ll | b2

| 4=

) | =

| oo

Options :

686340168257. 1
686340168258. 2
686340168259. 3
686340168260. 4

Question Number : 65 Question Id : 68634042599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o o [, [ f"ﬁiw%
v Y
2
ey
J
5 A
3
.k
3
.8
3
Options :

686340168257. 1
686340168258. 2
686340168259. 3
686340168260. 4

Question Number : 66 Question Id : 68634042600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

It .UR{I + ¥ )cvdx = A, where R is the region bounded by x=0,x=2, y=x,y=x+2, then% 15 equal to:

F

| ]
F=.

4.6

Options :

686340168261. 1
686340168262. 2
686340168263. 3
686340168264. 4

Question Number : 66 Question Id : 68634042600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS [[ (x+y)dvde = AR x=0,x =2,y = x,y = x+ 2. GRIIRES & . aa%w%:
1.1
2.4
3.12
4.6

Options :

686340168261. 1
686340168262. 2
686340168263. 3
686340168264. 4

Question Number : 67 Question Id : 68634042601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of double integal J'L j e " ydvdx is equal to:
0 «0

e

2]
-2
&

Options :

686340168265. 1
686340168266. 2
686340168267. 3
686340168268. 4

Question Number : 67 Question Id : 68634042601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o= amed [ [ e ydydx TAF SRR E;

=

[
-2
Ny

Options :

686340168265. 1
686340168266. 2
686340168267. 3
686340168268. 4

Question Number : 68 Question Id : 68634042602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The volume generated by the revolution of the cardioid » = a(1—cos &) about its axis 1s:

Ta’

1.

| ]

Options :

686340168269. 1
686340168270. 2
686340168271. 3
686340168272. 4

Question Number : 68 Question Id : 68634042602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT 3181 P TRI TP DISIHISS r = a(1-cos0) P URGHI GRI Ad ST § -

o0

-

1. —za’

(|

-J

L | =

Options :

686340168269. 1
686340168270. 2
686340168271. 3
686340168272. 4

Question Number : 69 Question Id : 68634042603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I : In cylindrical co-ordinates . Volume = _UJ rdrd gdz
:

Statement II : In spherical polar Co-ordinates. Volume = Hj” “cos O drdOdp

r

In the light of the above statements ., choose the correct answer from the options given below

1. Both Statement I and Statement II are true

-

. Both Statement I and Statement II are false
3. Statement I 1s true but statement I is false

4. Statement I is false but statement I1 is true
Options :
686340168273. 1
686340168274.2

686340168275. 3
686340168276. 4

Question Number : 69 Question Id : 68634042603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e syafeumu g
BYA 1 : SOIPR (e H, e Volume = [[[ rdrdgd:

BY 11 : TP Ydtg Fidwies B, smge Volume = ) ijﬁ cos @ drdOdp

SURIGd DY & 3fTelies § , i U 7T faw el 9 a9 Sugdd SR &I 99 ey
1. B 1 SR 11 & g8l o
2. BYA 1 IR 11 ST 7T &

3. FYTI I8, Al FYT I TTed &
4. BYTITEd o, Al HUT 11 ol &

Options :

686340168273. 1
686340168274. 2
686340168275. 3



686340168276. 4

Question Number : 70 Question Id : 68634042604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o e : ,
[ _Uj vz dydydz = et where . m.n, are coprime and R:0<x=<1, 1< y<2,2<z<3, then m.n is equal to:
4

1. 135

| o]

.90
3.150
4,120

Options :

686340168277. 1

686340168278. 2

686340168279. 3
686340168280. 4

Question Number : 70 Question Id : 68634042604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o e m ” =
afg [[[ 0z dvdydz == 8T, mn SEEUA § AU R:0<x 1,1 y<2,2<2 3, T mn WK
R

1. 135

[ ]

.90
3.150
4. 120

Options :

686340168277. 1
686340168278. 2
686340168279. 3
686340168280. 4

Question Number : 71 Question Id : 68634042605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A : The integral m (x*+ 3" +2° ) dudvedz taken over the volume enclosed by the sphere
4x

bl . 2 .
X" +y +2z°=1is

1 gl ]
Reason R : J.u..'ux dxdy = 3

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A

| ]

. Both A and R are correct but R 1s NOT the correct explanation of A
3. Ais correct but R is not correct

4. A 1s not correct but R is correct

Options :

686340168281. 1
686340168282. 2
686340168283. 3
686340168284. 4

Question Number : 71 Question Id : 68634042605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 Sy U U T : U 3IM@YT ( ASSERTION A) & =1 1 [R&d § T 58RI 39 PRUI (REASON
R)FEUY .

DY AT 2 4 2 4 2% = | G AR 3TdA WR e 171 Hied HH" + 3 +27) dxclydz T
4z -

HIH

DRUIR : L:ﬂ x dxdy = %

SURIGd Sy o 3l § , A 34U T fadedi § 4 Yad IUged 3Tk &1 99 Sifore
1. AR R I 96l § SRR . A D! Hel e 3

A IR R EH € B, AfPTR . A T T e T

AT E AR T AR

AT TS S APIRTE

[ ]

%]

e

Options :

686340168281. 1
686340168282. 2
686340168283. 3



686340168284. 4

Question Number : 72 Question Id : 68634042606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume of the cylindrical column standing on the area common to the parabolas 12 = X, %% = yand cut
off by the surface z = |2 + y — x2 is:

569
280
569
140
569
210
569
70

)

4.

Options :

686340168285. 1
686340168286. 2
686340168287. 3
686340168288. 4

Question Number : 72 Question Id : 68634042606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATl 2 =y, x? = p T IHAFAT TR TS U T§ 2 = (2 + y — x2 GRI ATH T TAADR K FT
3TTd B

569
280

569

140
569
210
4369
70

| ]

Options :

686340168285. 1
686340168286. 2
686340168287. 3
686340168288. 4



Question Number : 73 Question Id : 68634042607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

-1
Statement I : If y = (2” o 1_.=) and y= (u —V ) then dxdy = Td”g’u

W | =

1
3

& 1
Statement II : Area in Polar Co-ordinater = j j rdOdr
7 n

In the light of the above statements , choose the correct answer from the options given below

1. Both Statement I and Statement II are true

-

. Both Statement I and Statement II are false

faa

. Statement I is true but statement I is false

4. Statement I 1s false but statement I1 is true

Options :

686340168289. 1
686340168290. 2
686340168291. 3
686340168292. 4

Question Number : 73 Question Id : 68634042607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e eyrfeum g

hYAT: tlﬁ_r - (2” 4 1.1}L_‘WHJ' = %(u = 1-‘).3@(&':??]" = %]difdl’

Lo | —

&
wuA Tyt Pt § dawa = | [ rdOdr

& 1

SURIGd DY & 3Telie § . i U e faw el o 9 a9 Sugad SR &l 98- oy
1. B ARG el &
2. YT 3R 11 &I 7T §
3. BY 11 § . TfchT YT 11 7T0d ©

4. PYTITAd & . Al YT 11 Tl &

Options :

686340168289. 1
686340168290. 2
686340168291. 3
686340168292. 4

Question Number : 74 Question Id : 68634042608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: : 2 2 i . 2 2 -
The surface area of the cylinder X + z° = 4 inside the cylinder X~ + " = 4 is:

1.4

| B}
sl

4.32

Options :

686340168293. 1
686340168294. 2
686340168295. 3
686340168296. 4

Question Number : 74 Question Id : 68634042608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 422 = 4% SR AT +_‘l-'3 =4 P1ys &5 G -

1.4

| B)
=]

3.16
4. 32

Options :

686340168293. 1
686340168294. 2
686340168295. 3
686340168296. 4

Question Number : 75 Question Id : 68634042609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Integrating factors of the equation y ( 2xy + ¥ ) dx — ¥ dy = 0 is:

| S

-
'-.“! s

Options :

686340168297. 1
686340168298. 2
686340168299. 3
686340168300. 4

Question Number : 75 Question Id : 68634042609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THIBR 3 ( 23y + €°) dx — ¢ dy = 0 BT GHD T 01D -

| )

Options :

686340168297. 1
686340168298. 2
686340168299. 3
686340168300. 4

Question Number : 76 Question Id : 68634042610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The orthogonal trajectory of the cardioid » = a(1 + cos@) . a being the parameter 1s:

l.r=a(l-cosé)

| o]

F=acosf

LN ]

.r=a(l+cosd)
4. r=a(l+sind)

Options :

686340168301. 1
686340168302. 2
686340168303. 3
686340168304. 4

Question Number : 76 Question Id : 68634042610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FISIHISS r=a(1+ cos§) T TIDIVNG G, TG a MW ©. ©: -

l.r=a(l-cosé)

(o=

r=acost
J.r=all+cosf)
4.f‘=cf[l+5inn‘.‘1'}

Options :

686340168301. 1
686340168302. 2
686340168303. 3
686340168304. 4

Question Number : 77 Question Id : 68634042611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Differential Equation Particular Integral (P.I)
X B
A [(D+6D+9)y =" 1 |[—sin3x
i I
B. |(D*-6D+9)y=3 II. [-—cos3x
D
. |
C. { D+ 4}}' =cos3x o |—
3
. 1 3x
D. {D“ +9)y = cos3x IvV. e
-5
36

Choose the correct answer from the options given below:

1LA-TV.B-III.C-II,D-1

| B)

ACILB-ILC-1.D-IV
JA-ILB-LC-II.D-IV
4 A-LB-IV,C-II.D-III

Options :

686340168305. 1
686340168306. 2
686340168307. 3
686340168308. 4

Question Number : 77 Question Id : 68634042611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

1% Iy g @ fEae Sifou
Gl Gl
HIF T THIHI0T e garea
X .
A [(D+6D+9)y=e L |—sin3x
6]
B [(D*-6D+9)y=3 I |——cos 3x
] |
C. {D"—i}y:cnﬁ}r III. | —
D. {DE +9)y = cos3x V. —€3x

1 [4U U [dmedl § U Ugl 3R &1 904 iy

1LA-IVB-III.C-II.D-1

| ]

CA-IILB-ILC-1.D-IV
JA-ILB-LC-II.D-IV
4 A-LB-IV.C-II.D-III

Options :

686340168305. 1
686340168306. 2
686340168307. 3
686340168308. 4

Question Number : 78 Question Id : 68634042612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The solution of the differential equation Tj +y=23e"y1s:

X

| -
1. — =bHe" +ce"

.1"

| ¥ 2
— =6 " +ce”

.1!

| ]

1 i
3. —=06e" e
2

| e
4 — =6 " +ce
.F-

—2x

Options :
686340168309. 1



686340168310. 2
686340168311. 3
686340168312. 4

Question Number : 78 Question Id : 68634042612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dy ; -
3 FHIPRU =L 4y = 3¢’ y® DPITA G-

X

| :
2. —=6e "+ee’

.1l_

3

3. —=6e"+ce

.1ll

| .
4, —=0e " +oe

Options :

686340168309. 1
686340168310. 2
686340168311.3
686340168312. 4

Question Number : 79 Question Id : 68634042613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

n
. - ¥ 5,
If particular Integral (PI) of (D* —4D +4)y = x'e*"is ¢™ — then 2 4 ;2 4115 equal to:
' 0

e

1.29

| S

.30
2|
4. 28

Options :

686340168313. 1
686340168314. 2
686340168315. 3
686340168316. 4

Question Number : 79 Question Id : 68634042613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H . 3
A (D? — 4D +4) y = x> BT AT FHIDT ™ 28, A m” +n” +1 RER
' 20

1. 29

b2

. 30
3.31
4. 28

Options :

686340168313. 1
686340168314.2
686340168315. 3
686340168316. 4

Question Number : 80 Question Id : 68634042614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Mdx + Ndy = 0 1s said to be an exact differential equation if it satisfies the following condition

dx oy
e g : : : 1(eM aN)
Statement II : If Mdx + Ndy = 0 is not an exact differential equation and -~ L ———— |=f(x). then
N ooy ox
[ £(x)dx
LE.=¢ /"

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement II is true

Options :

686340168317. 1
686340168318. 2
686340168319. 3
686340168320. 4

Question Number : 80 Question Id : 68634042614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e eyrfeum g

oM _ N
HUTL: Mdx + xdx—ﬂmﬂﬁﬂ&m@ﬂmﬁﬂﬁﬁ%ﬁ%mﬂf =

ﬁﬂgﬁﬁ‘cﬁ%i

'

BYF I : TS Mdx + Ndy = 0 TUITY Sfde GHIH0T 78 & qur - L
[ f(x)ex,

A AN
] ):f{x)ﬁlﬂ%il-tldﬁﬂﬁ Ik

=&

IRIGd Y & Aelld § A G0 0 f[de i § I gl IR &1 99 Diforg
1. PYTI SR IS 9d &

HYTI AR EH 3T &

PYT IS . AfPT Y A ®

2=

Laa

4. PYI3EI S, AfPTPE I TA R

Options :

686340168317. 1
686340168318. 2
686340168319. 3
686340168320. 4

Question Number : 81 Question Id : 68634042615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : If xg_],'“ —2xy' —dy= ' thenC.F.= _I + Cﬁ
X

Statement IT : If { D* —8D+1 5} ¥ = 0. then auxiliary equation has equal roots.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

-J

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement II is true

Options :

686340168321. 1
686340168322. 2
686340168323. 3
686340168324. 4



Question Number : 81 Question Id : 68634042615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g syaRumue

- £
BUTL: TR 272y — 4y = 1% T TB B CF.=—L+Cyx
X -

DU 11 : UG (0?80 +15) y =0, TS TSP FHIHI FHM 7 @1 §
SWRIgd ®Y &b el § | i U Tt fae el § 9 9a9 Iugad SR &l 99 DIy
1. T 1 3R 11 ST Tt €
2. PYFT IR 11 &I 7TeTd §
3. BY 1 B 5. Wb U 11 7T ©
4. PYT1TEd & . Afdd DY 11 W61 &

Options :

686340168321. 1
686340168322. 2
686340168323. 3
686340168324. 4

Question Number : 82 Question Id : 68634042616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The general solution of the differential equation "+ y = 6sinx 1s:

1. y(x)=Ce" +C,e™ +3xcosx

| Be]

y(x)=Ce" +Cye™ —3xcosx

faa

. ¥(x)=C cosx+C,sinx—3sinx
4. y(x)=C, cosx+C,sinx—3xcosx

Options :

686340168325. 1
686340168326. 2
686340168327. 3
686340168328. 4

Question Number : 82 Question Id : 68634042616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3faedhe] GHIGRU[ ¥+ ¥ = 6sin x o] YU B ©-

[

.y(x)=Ce" +C,e™* +3xcosx

| o]

. Y(x)=Ce* +Coe™ —3xcosx
3. y(x)=C|cosx+C,sinx—3sinx
4. y(x)=C,cosx+C,sinx—3xcosx

Options :

686340168325. 1
686340168326. 2
686340168327. 3
686340168328. 4

Question Number : 83 Question Id : 68634042617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The general solution of the differential equation 2x* 2 Y+ £ _ 6y =0 1s:

x” e

. il
L y(x)=C 2 +—%

%

B ed

| o]

yv(x)=C, i +Cyx

Options :

686340168329. 1
686340168330. 2
686340168331. 3
686340168332. 4

Question Number : 83 Question Id : 68634042617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



iy alx

ool FHIB 2242, Y 6, _ o BT UUD 5 &

2 - L-1-|
L oy(x)=C, x"+—=

xx

| ]

-y(x) =G, i +C, x?

I

4. »¥x)=C, x

Options :

686340168329. 1
686340168330. 2
686340168331. 3
686340168332. 4

Question Number : 84 Question Id : 68634042618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Differential Equation| LISTIILF
A ly'+y=sinx L |x
1
5
B. 1:"— s H:|—
y*=3 :
' ] X
Cly+—y=e IIT. |~
X
|
D.|y=—y=1I IV. [
X

Choose the correct answer from the options given below:
LA-ILB-II.,C-NI.D-1IV
2A-ILB-ILC-IV.D-1I
JA-TMI.B-IV.C-1.D-1I
4 A-IVB-LC-II.D-III

Options :
686340168333. 1
686340168334. 2

686340168335. 3
686340168336. 4



Question Number : 84 Question Id : 68634042618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qiE 1% WY g 1 o1 fiyer sifon

I I

y'+y=sinx| L

X
1
B|yp'—yp=x|IL|—
i X

C.|y+—y=e ||

.

D.|y'——y=1|Iv |~
2

=1 [4U U [amedl H 3 Yol 3R &1 904 Sy

1.LA-ILB-II.C-III.D-IV

2ZA-ILB-IILC-IV.D-I
JA-NM.B-IV.C-1.D-II
4 A-IV.B-1.C-II.D-1II

Options :

686340168333. 1
686340168334. 2
686340168335. 3
686340168336. 4

Question Number : 85 Question Id : 68634042619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A : A given family of curves is said to be 'self - orthogonal' if the family of orthogonal trajectory 1s
the same as the given family of curves

Reason R : For finding orthogonal trajectory , replace ﬁf’.l” = '@Li" S/ [ X ‘Lﬁ'} =4
a'x d_[j,‘ h d‘-

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R 1s true

Options :

686340168337. 1
686340168338. 2
686340168339. 3
686340168340. 4

Question Number : 85 Question Id : 68634042619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 gl P2 [GU U § : U MUY (ASSERTION A) & =0 I [iif&d § dl R1 3Hd HRUI (REASON
R)FEUY .

aﬁ@%ﬂmﬁuﬂuﬁmmaﬂwmﬁm%uﬁmﬁmwawmmw&?
IO |

PR R : TGP0 TY aﬁwmﬁéﬂﬁq,fﬂ,y.‘?’}ﬂ § Y5 &g e ea §

\ dx dx dy
IWRIad U & 3Mcld H . i [4U U fddedi § 4 Ugl 3R BT 9894 Piog
1LARREATY ¢ 3R R . AT Tel = &
AIRRINIIA R, AP R . AP Sl A el

AT APTR 3ET ©

| ]

[F¥]

4 AYIE. ABIRTAS

Options :

686340168337. 1
686340168338. 2
686340168339. 3



686340168340. 4

Question Number : 86 Question Id : 68634042620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5. A ) 2 |
tr=xt+y/+ zk andr=4x" +..1'2 + 22 , then gmd{—] 1s equal to :
¥

| ]

Rl

Options :

686340168341. 1
686340168342. 2
686340168343. 3
686340168344. 4

Question Number : 86 Question Id : 68634042620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oz - :xf+_}_=}'+gk durr= .1r2+_1'2+z2 .ﬂﬁg}‘ﬂd[l)W%:
3

| )



Options :

686340168341. 1
686340168342. 2
686340168343. 3
686340168344. 4

Question Number : 87 Question Id : 68634042621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. 5 i - . . ] g, D o»
If F=(x+2y+az)i +(bx—3y—z)j+(4r+cy+2z)k is irrotational . where a, b and ¢ are constant . thena“ + b“ + ¢~ is
equal fo :

1.

[

| )
|

4. 21

Options :

686340168345. 1
686340168346. 2
686340168347. 3
686340168348. 4

Question Number : 87 Question Id : 68634042621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qﬁ F=(x+2v+a)i +(bx—-3p-2)} +{4x+ey+ E:U; \S{Eiuﬁ% 3 G‘E-Tﬂ. bdilc @W% dd 32 + !JE + C2 W%

1.5

[ ]
= |

4. 21

Options :

686340168345. 1
686340168346. 2
686340168347. 3
686340168348. 4

Question Number : 88 Question Id : 68634042622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If A=(3x° —ﬁy:]f ~14yzj +20xz°k . then the line integral I AdT from (0.0.0)to( 1.1.1). along the curve C
=

2

x =t.y=thz=tis:

1::77

| )
L=

4.4

Options :

686340168349. 1
686340168350. 2
686340168351. 3
686340168352. 4

Question Number : 88 Question Id : 68634042622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qfg A=(3x" +6y)i ~14)z7 +20x=2% T (0,0,0) T (1,1, 1) TP AP C;x =t,y =12, z=t S Y Y @I
e | AT 3
z

1.7

[ ]
o

L]
Lh

4.4

Options :

686340168349. 1
686340168350. 2
686340168351. 3
686340168352. 4

Question Number : 89 Question Id : 68634042623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i ’ : : o ne N o2 s : z SR TR e
The directional derivative of #(x.0.2)=x"yz +4xz at ( 1.-2. 1) in the direction of 2/ — j -2k 1is

| B

Options :

686340168353. 1
686340168354. 2
686340168355. 3
686340168356. 4

Question Number : 89 Question Id : 68634042623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2i = j—2k DGR (1.2, 1) W g(x,y.2) = w2z + 4x> PGP - SADAA G -

]
d | b2

Options :

686340168353. 1
686340168354. 2
686340168355. 3
686340168356. 4

Question Number : 90 Question Id : 68634042624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Al ‘i F.dr = _” Curl F.Ads

5

(6N &M
(G

B. J.M(ir + Ndy =
S

C. grad is a vector normal to the surface  =C

D. VO is the maximum rate of change of @

choose the correct answer from the options given below

1. A B.D Ounly

2

.B.C.D Only
3.A C.D Only
4. A. D Only

Options :

686340168357. 1
686340168358. 2
686340168359. 3
686340168360. 4

Question Number : 90 Question Id : 68634042624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al ‘i F.dr = _” Curl F.Ads

g

(6N oM
B. J.a"lrfii'c + Ny = Ij L + _} dxdy
c 2\ Ox Oy

C. grad 0 J¥ 0 = C R AW fi@a g

D. Vo, ¢ ®I fidaq uRadd - R 8

4 fau v fawedl & 9§ el 3w @1 904 Sifony
1.%dd A, B.D

.$dd B, C, D

3.BAd A, C.D

4. BAUA,D

| B

Options :
686340168357. 1



686340168358. 2
686340168359. 3
686340168360. 4

Question Number : 91 Question Id : 68634042625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

dep dy
Statement I : If¢(x, ¥). ¥ (x,¥),— Elnd—l’f are continuous functions over region R bounded by simple closed

(.“!‘
0
n_¢}(\‘dl>
oy ’

curve C in xy-plane . thengs (.‘,ﬁ'd X+ydy) H[
Statement II : F be a vector point function and volume V enclosed by a closed surface . then volume integral =

J‘! E.dV

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement II are incorrect

Statement I is correct and Statement II are incorrect

4. Statement I is incorrect but Statement I1 is correct

Options :

686340168361. 1
686340168362. 2
686340168363. 3
686340168364. 4

Question Number : 91 Question Id : 68634042625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e eyrfeum g

FYAL: TR g(x,p), VY (x,»), {t’j W—W—Wﬁmm Hqd 9 gRT IREs &7 R W Hdd
.“
W%.ﬂﬁg?:_(édr+w¢{v)=ﬂ[aw ﬁé}ndy

o 1 : F i fiig ot & quT S v S 98 a1 e &, 79 s s [[[ Fav

SWRIgd ®Y &b el § | i U Tt fae el § 9 9a9 Iugad SR &l 99 DIy
1. By 1 3R 11 ST el &
HYF 1 AR 1S Tad ©

[ ]

FUF eI e, AP eu n e
YIRS . AfpT PYT 11 Gel &

Lad

ey

Options :

686340168361. 1
686340168362. 2
686340168363. 3
686340168364. 4

Question Number : 92 Question Id : 68634042626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The given vector F=(y” ~z% +3yz - 2x)i + (3az + 2xp) j +(3xy - 23z + 22) £ is solenoidal
Reason R : A vector F is said to be solenoidal if iy F = 0
In the light of the above statements. choose the correct answer from the options given below
1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. A s true but R is false

4. A is false but R is true

Options :
686340168365. 1
686340168366. 2



686340168367. 3
686340168368. 4

Question Number : 92 Question Id : 68634042626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 HYF AU U § « U 3IUEHY (ASSERTION A) & =0 H fAf&d § a1 33R1 39S HRUI (REASON
R)FEUY .

HYHUT A - E_":”]TE“ ﬂlag F'=(_:': g +3_1::—2.r)f+(3,\':—: 2.1'_1.:}_,?+{3_;‘_v—2.\.‘;+2:)a’; W%

PRUR : B Gy F oRaiaa seaa s ak div F = 0

JWRIFT DYF o ATdlD 4. HId [T T [dbedi § U Yol 3t &I 904 Iy
ASRREFITAT IR R . AT TE AR &

A SRR 3 9@ 8, AT R, A BT TET o gt &

A9YE. WP R 3MA T

ATT . AfP TR IE R

[y

| B

%]

e

Options :

686340168365. 1
686340168366. 2
686340168367. 3
686340168368. 4

Question Number : 93 Question Id : 68634042627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the curl of vector A = (2x1 i 3)2),; —|—(3{2 +axz —4z° ) j = (3331»’ +b)_rz)£ i zero . thena + b is

equal to :

1.8

-J

=3

4. 11

Options :

686340168369. 1
686340168370. 2
686340168371. 3
686340168372. 4



Question Number : 93 Question Id : 68634042627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A CE A = (2:«;71—'—3)f'2');,?+(xE +axz —422)_}—(31}%5)-'2)1{& PTCurl IR, Ta+b
TR B |

1.8

| ]
|
L]

Lig
-]

4,11

Options :

686340168369. 1
686340168370. 2
686340168371. 3
686340168372. 4

Question Number : 94 Question Id : 68634042628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTII
Alp=y2, Vg L1y [L ;
Blp=x,VPa (1.-12 |1 | 6f
¢=2x,Vgpat (0.12) |m|2 7

D |#=3z"Vga (L2-) |IV|F

Choose the correct answer from the options given below:
1LA-LB-II.L.C-TI.D-1IV
2ZZA-II.B-IV.C-1.D-III
JA-NI.B-1L.C-IV.D-1I
4 A-IVB-III.C-II.D-I

Options :
686340168373. 1
686340168374. 2

686340168375. 3
686340168376. 4

Question Number : 94 Question Id : 68634042628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

= 1% AT G 1 BT e St

T 1 T I
Alg=y2 Vg1 [i];
B.[p=x,Vat (1.-1.2) |1 [ 6%

¢ |g=2x3Vga (0.12) |m[2]

D |¢=32°Vgat (1.2-1) [V |5

1 fau U faedl © 9 981 SR &1 994 ifelg
1LA-LB-II.C-TII.D-IV
2ZA-ILB-IV.C-1.D-III
JJA-NMILB-1L.C-IV.D-1I
4 A-TVB-III.C-II.D-1

Options :
686340168373. 1
686340168374. 2

686340168375. 3
686340168376. 4

Question Number : 95 Question Id : 68634042629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A. vector V is said to be solenoidal if div V =0
B. Vector F is said to be irrotational if curl F = o
F ; . B ok
C. If F represents the force acting on a particle along arc AB . then total work done J Fxdr
A

D. Volume integral I” FxdV
4

choose the correct answer from the options given below
1. A.B. C Only
2. A.B.D Only
3.B.D Only

4. A. B Only

Options :



686340168377. 1
686340168378. 2
686340168379. 3
686340168380. 4

Question Number : 95 Question Id : 68634042629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A gV ulEfealg sgaais afla V=0
B. GRRWF el deamaiz afe F = o
. Hﬁ?wm_ﬁwwwaﬁ@aﬁﬁmﬁ%ﬁa@ﬁmaﬂﬂ: Exar

D. Tgd THSA m FxdV

= fau e fawedl & ¥ 9El SR @1 909 Siforg
1.$dd A, B. C
2. ®dd A, B.D
3. ®dd B, D
4. BAd A, B

Options :

686340168377. 1
686340168378. 2
686340168379. 3
686340168380. 4

Question Number : 96 Question Id : 68634042630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The region represented by the inequation system x,y 20, y=5,x+y23 is
1. Unbounded in first quadrant
2. Unbounded in first and second quadrants
3. Bounded 1in first quadrant
4. Bounded in first and second quadrant
Options :
686340168381. 1

686340168382. 2
686340168383. 3



686340168384. 4

Question Number : 96 Question Id : 68634042630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STHDT BT x,y 20,72 5,x+12> 3 ERIVERIA &9 & -
1. Y IquiE § euftas
2. Jw YT fedia Iquiel 7 sales
3. yuE IquiRi § uitas
4. 7y T fgdig Iquii @ okeg

Options :

686340168381. 1
686340168382. 2
686340168383. 3
686340168384. 4

Question Number : 97 Question Id : 68634042631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum value of Z = x + 2y subjected to the constraints x+2y2100,2x -y <0,2x+y <200,x 20,y 20 , is :

1. 250

| S

. 100
3. 350
4. 400

Options :

686340168385. 1
686340168386. 2
686340168387. 3
686340168388. 4

Question Number : 97 Question Id : 68634042631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SIAUYT x+2y2100,2% -y £0,2x 4y £200,x 2 0,y 2 0 , B HANT Z = x + 2y BT HIPaH AA &

1. 250

|

. 100
3. 350
4. 400

Options :

686340168385. 1
686340168386. 2
686340168387. 3
686340168388. 4

Question Number : 98 Question Id : 68634042632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following set is convex ?

1. {(.\y _1-'}:.\'3 + }-‘2 > I}

2{(v2): 7 2 x)
3 { (x,y) 3r +4y° >‘*}
4. {(x,;.:]:;.-' 3:2,_1'54}

Options :

686340168389. 1
686340168390. 2
686340168391. 3
686340168392. 4

Question Number : 98 Question Id : 68634042632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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L. {[.1‘._1»‘):x3 +y* 2 I}

2{(1 __1-*):),«*2 = x}
3 {(x,p):35% +4y% 2 5}
4{(x,y):y22,p<4}

Options :

686340168389. 1
686340168390. 2
686340168391. 3
686340168392. 4

Question Number : 99 Question Id : 68634042633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If there 15 no feasible region in LPP . then the problem has :
1. Unique solution
2. Infinite solutions
3. Unbounded solution

4. No solution

Options :

686340168393. 1
686340168394. 2
686340168395. 3
686340168396. 4

Question Number : 99 Question Id : 68634042633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340168393. 1
686340168394. 2
686340168395. 3
686340168396. 4

Question Number : 100 Question Id : 68634042634 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the given system of constraints

A 3x+I3y=<90
Bixt+2y=30
C2h+y=30
D.xz20,y=0

The redundant constraint is

1.D

[ )

A
3B

4. C

Options :

686340168397. 1
686340168398. 2
686340168399. 3
686340168400. 4

Question Number : 100 Question Id : 68634042634 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a3yl & feu T ey .

A 3x+5y<90
B.x+2y <30
2x+y<30
D.xz20,y=0
FIREIRYE -
1.D
%k
3.B



Options :

686340168397. 1
686340168398. 2
686340168399. 3
686340168400. 4



